WEEBER—-PARTNER

#$ $
$  %& 0



+ WEEBER-+PARTNER

WEEBER-+PARTNER

#$ $
$ %&



WEEBER-+PARTNER

n ' " #
$%! Il /| 0 1 # &
232% 45 /! & +# 67 | 4 +
# 2 # 8 &#
&t 8 94 1 : 2
" -1 8 $ 4; 9 +
$ ! 4 41 8 # 6 +
2 1 Il 6 I <
2
= 0> $ I &
- 2& $
? 4 49 &t 2
$ ‘O $
( §) e, 4 4
@ # % $ $
2
/! $ A$ - +
B '(( c26D !
$ 2
- + 1 $ 3+ 3
5 2
6 & B$ 14 /| 5 A )C4 . 6 A +
C4= % A= + % C 4 ? A&# 8 C4 +
6 AE &t ')>C4 LA
C4E | A C41 &7 4. & 4 "A @ C2
/
% | YF2$  4)*< 40 9
234 ( 'G2$  4)*2( )29 4)*
534 ( 'G29!  4)* 'H29! 4)*
634 ( )G2 824)* G2 8 4)
I % | >2 8 4)< 4]
3 4 & +
/ 2 - 4 -

)F2:  'OF 5 2



WEEBER-+PARTNER

' 1 !8
$ # ! # )F2 $ 0* 6
1 18 2 ! - #
H#11 '() > 6
821 E
E I $ ! 2 &#
&# 4% ! $ $ 0
E ! #
2 6 $ E
$ 1 4& 4
6 J 341 4.
< 4 - 454#
$ 4& + 3 '
$ 1 = 4 4"
# - E
2: 1 A 1 CB
6 4 6 $ 2
" 4 # E 7
3 2 6# 4 #
4 2
"7 8 # 2
" 3 5 7 4 -
8 2
6 4 7 &# 8
6 /| K 3 2" # !
6 & 2
: $
4 ( # E 1
2 E E
E 2"/ ! |
E 67 ! 4 3 $
4L ! 14 8 E !
" 0 4 ( ! E 1 2 & +
! E 5 ! 5
4 E # 0 $ 2
5 # 1 8 It 4
2
& ( E
8 |! 6 4
0 8 | 8 5 2 0

1+



WEEBER-+PARTNER +

8 & # o< A- C
I! A ! C
6 %
I# % & A& 43 49 45 4 2C
# I! A 40 C
M $ 8 #
! |1
6 & E &# &# #
I! 2
H 1 8
9 # & # &# &# 3
M 1 8 '>2 8
'0* / 2 # o 1
6 $ ! E ! E
E 1 8 I!
= $ 0* & 8 2((( - RS
8 |! $ 8 I! 3 # 2
! $ ! 6 ! 1 I!
- 6 2 # $
4 E 3 $ 8+
5 2
1 I'$ 140
$ 1 # B +
1 2 - [! 4 +
4 6 !
17 2 # o &# &#t # 3+



N + WEEBER--PARTNER

G E 4 114.4#!

3 3 $ 8 % &

25 B. 6 4 o$ ! 4 "

25 B$K $# 48&# # 48& 4< 0 O
= % 4= + $ (O 14 "

25 B$ 14 'O 1&# 4 - &
( " E E L4

B $ 5 1 $

= E GO ! AD2' ! # E |

c2 E 1 12

- 1 8
( ) 8
0. (
- #5 +
- 1 8
0( ) 8
0. (
3 # 7 3+ ) / o/ /
6# +
3 # O H : 4 +
3 # $ # + & ) 6+
4% % 12
2 0
8 7
$ A 2
/ 6# +
Co 1
. 2
#1 22 I
E 1
E 5# 0 #$ ! BE
$2%: +-  $ ! + & 5E1 +
4 & $ ! #
#
? 1 # I < 9
2 L7 ’ ! 4
? | . 0
8 - ? | 4 E L +
2
8 6# 6# + 5 /
4 5




WEEBER-+PARTNER

I A8 C"S8
&
5 A28&2: C
- 1 8
& ) 8
0. (.
- # 0 < 0
8 1798 o- # 17
4
# - 0 +
(0] & 7+
o 7 +
# ! +&
6 O 179 #
1 5
A $
E C - - #
2
'OF$
2" -
: 2
B A- +
%5 C
! $ 4 8 D + = +
A 1A $
C
735 * 1 (, >"8 8-
- | 8) #
( 8
0. (
+ +
- | 8) #
0( 8
0. (
3!
3! ?
& 8 8 ! < 3 #
$ + & 1
# A('%C .
8! - AF8 )( o & +
: C I I 0]
3! 2/0 A2&2$% C 7 2
! 8 !
# 1
1 !
A 8 1 #




+ WEEBER-+PARTNER

. C # ! +
4 179 31
31 # +
A Cc2
$ ! ¢ | ? < 1 # +
0 /0 6 4
. 4
0 2
? 0 #
! 1 ! 179
A P 2 C
1 5# E +
E .
26 'OF8 D 4
. 8! 6
# 4 8 2
6
# 1 GH(= 2
4 .
4 |
I 4 ! 1 & I B?
IB $ I+ 0 # !
L 1 ! 179A P 2C
' 2E Q! o) R
! 5 2 (e}
1 !
0 %o+ 5 47 179 +
$ A3 4 1
0 C 7 & ! 179
! %3! $ 7 0 W7
! % $ 4%+ 4 &
A 4L+ ! 2
C E $
. ! I+
$ 4
2 1 !
# 8 "8 7
A2&2; C4
4 O 3 +
%% I 67 !
Al # I 47+
+
/ 8 -
C2
J 3 4 4 +
8 18
+$ B 8 3! # ? 7 <
0O 4 B$ 1 4 . $
111 0 & $
AE ,(C ! 2
E / +* !
! ? $! o+ 1+
80 - 7 ! $
4 8 1 2 0+
1 & 6
/ 2




WEEBER-+PARTNER

8 # >4G

7 A c23

$ 8! A2&27
0 8 IS

+

+1

-&! %46

6 OF8 D

&# +

E 4 /0 +




X

WEEBER-+PARTNER

< +
Ol 4 |
8 7 2
# &
% : R #+
$ 7 I I+
| I 2
& A C 11+ &6 % # $ 8
& # A$ + # 2
C
67 ! # ! 8
0 17 !
! ! I+
A2&2 | C
736 )0! 8" ! I( 84
- 1 8
( ) 8
0. (.
& $
- 1 8
o( ) 8
0 . (.
5# E 5#
$ 2
/ (A<
? 1 7 5 - ? # +% $ 4
0+
2
I Q +
4 8 # 8 !
- 1 8
& ) 8
0 . (.
9 ! 4 282 & 4 = E +
QT !
A C2
1 A)%)*C
6 5 ! +
- A$ & % +
8 9C 0 - I+
$ 2
& B & $ $ 5 O +
2&2 ? +$ B & ! +
4 1! 0
2
5# 0 7 + 5E1 #
5# % / ? +
#! I+
8 4 5#+
1 8 2




WEEBER-+PARTNER

)

5E1 4
0 2
-1 5E1
2
5# 5# 8 2
88 +
4 2 !
4 ; +
2
7 $ %& ! $ 158
- # 67 # 4
& $ 8
17 2
1 $
3@+! # 2
- 18
( ) 8
0. (.
& / (
- |
0( ) 8
0. (.
OE + 1+ 8 +
# 2
I 0! 4 ! -
! $ & & +
A$ +3 C4 & 4 +
! A # 2 $ 8 +
$ C 4 E ! 2
& % - O+
2
& 0+
# 4
1 8 2
3 $+
# 2
- B$ #
5 5¢# % # F 22 I!
A$ $34
- C
-1 %E - /
- 1 8
& )
0. (.
# 0 8+%& 5 A # C
7 # = +1 & 81/ 2
$ < R +
4 -1 ! ? +




WEEBER-+PARTNER

# !
4 3 +
0 2 < +
17 4
? 2 # +
E ? 4 8 E
2 3
5 4 |/
7 #
1 ? 8
A Cc2
5# +
! # 5 21
8 - # ? 2
1 0 8+& +
# = +1 # o !
$ | 2
= 4 5 A$ - 4 ! 4 #
$3C 4 4 | 5 +
0 7
21 1 $ +
5 + # = +
7 2
5 +6 ! SA$ + + % 8
$34&# 8 C 1 +5 +6 A +
46 + /! 48& '8
# . 4 +
232C2 5 $
- 47
! 2
2 & 8 2 ! I'!
: < #
$ &6 $ # 3
& 8 # 2
I 4 $ 1
737 I, A 8% I 8
- 1 8
( )
0. (.
+ +
- | 8
0( )
0. (.
5# $ B< # 4 < # & +
1 & 9
2-8 67 +
I 4 $
$ 8 2
0 45
© %Q 1 A0 !
3! C
5 B1 5
A= 4CO 4 8& !




WEEBER-+PARTNER

0
P& = $ I+l 8 2
5 0 %= = +
= % 0+ - 2.
t = 8 7 2
E I # =
& ;
4 E I # =
9 8 45
" 8 20 = +
6 9+
o $ +
-1 %E - /
& ADO 4& 4
I C
- I8
& )
0.
< # B3 4 =0 i< H E
5 1 o
179 5#
$
< #
1 25 $
3 #
& 0 !
! B
+
+ 1
+ & %5 #
+ 820 6
+ 917 B$ 74 4
? 0




H + \WEEBER-+-PARTNER
> 1 [ !
" .25 8 E | 2
"0 | I! 2"
1 5 4 < Al 1 C2
118 ! 2
|1 +E . 8 & !
<
) / B282& 4 L+ $ A? + 22
+# . 4& S B
b B # $1$ #0OM + " 45
8 # 1+0 $ B
B ?
$! 1
* 18 = I 181 + + 2)2((U # )&+ 2D
A282% | %:K C4 AF(/C
1 & 87! ) $ +
8 1 8 BE o +
6# 8 & #0 I+
& 6% + +
@1 &+ ! + 11 ? $ 4
? S5#147? - 47
& 0 &#
$1 & " c
&87!1 O $ + % 0! E
I A? C
$! & $ B
)6
bo# 5 I 282 + + K4 25 E
! $ + + 6 14" 1 A& +
- I C4
$1  &87! + 2)2(((V
+ [ &t 8
o )
$ ! 5 1 +
$! & $ 4%=A3%$ +
C4$ 41 +
$ #4 1
A9 C
C
% 0! 1 #7+
9
$ TH1 %$
'OF
b 11 #0 %= + + K% 25 4"+ E
F #G 8 $ + ! Y2(((U
A I+l &# 8
$! ) $=4% +
& 4% + +
$! : 4 1 A9+
C4a! 3 4 +
5
C
% 0! 1 #7+
9
$ 2 (OF




WEEBER-+PARTNER +

|1 +E i -
# $1  # + G((U
$ ! 1 ) #+
! 8 4: 0
C
% 0! 5# +
41 #7
9
$
[ 18 B
0 & &
& 0 !
B - # ‘= & !
7 & # /1 A822 1 C4/
'= 8 4 B= 6# A2&2 +
IC
6# B? #/
& A= 4 45 8 2 =+

4 & 1




N + WEEBER--PARTNER
F | !
#O0$ 2(00- # < 1
! 116 3 # 2 ! +
I! - 3 $ 8
1 8 2
)
1 1 < # 2% +
18 A/ 40 4 & 2C2 - 8 +
4 2 # $ %5 +
8 ? & ! 2 E
A C 8 0 A C2
I # " $
% # ! # 1&
() * L+, #
# # !
*1
E 84 E 6# 5 25 &
$ 4 & 2 &2 & +
2% 6# 5# 8
$
+ $ - JO- 1 ,
2 3 4 5 4 1 0- :
-# 4 21+ $ 16771777% 3
L 8 0 L+ - # 9
1 2 # 8 - !
I 8!
5 ! 3 6 7 2
& ( ; 1-10'' 5 ;2
% < # 1+ % !
!
n
- I 4 " ! 4 282 &
2
* < -
- & * = #
4 - ! I+
- # < &



)>

I A22((- C

\VEEBER--PARTNER
|
5
# |1
TH
[
$
4 E
|1
1 8
9 # &
& 2
5
0 $
21

#

0~



WEEBER--PARTNER

)*

X




WEEBER-+PARTNER

)F

?!



